et EXO0

Z4 EFmPEREBEENSE_HRESHEIRE--BWH: FF (KKER .FF->FF)

PNA21-01-#£f&: FF , Z0ID: WF1, fI& F5%: 2 [X2:+109,Y20:+115] R~F:230.0 cm * 1190.0 cm , EE: 40 cm

#5 TREHXA #5 TEHX-EM= ((230.00-[REB]7.572)+[BEHK O BER 152.64
J Lg]78+[$#EA1]21.9%2)*(Int((1190.00-7.5*2)/20)+1)/100=
152.64 M
#5 TEHYR #5 TREEYRRA= ((1190.00-[{REB7.52)+[BEE 1 [BiER | 14264
J Lg]78+[$87EA1]121.9*2)*(Int((230.00-7.5*2)/20)+1)/100=
142.64 M
#5 FEHXA #5 EHXA= ((230.00-[{REE]7.5°2)+[{EE H]0 [Ei#ERL]] 152.64
( ) 78+[$HEA1]121.9%2)*(Int((1190.00-7.5*2)/20)+1)/100= 152.64
M
#5 tEHYR #5 EERYR= ((1190.00-[{REE]7.5°2)+[{E 1" [EER 142.64
( ) Lg]78+[$%EA1]21.9*2)*(Int((230.00-7.5*2)/20)+1)/100=
142.64 M
BEhRETE:

¥RR[ A F2]= (230.00+1190.00)*2*[E O [ ]40/10000=11.36 M2
¥R/ 11.36= 11.36 M2

RCEHE:
RC = (230%1190)*40/1000000=10.948 M3
RC/NET:10.948+[ L i #2]0.000=10.948 M3
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-------------- HEHER/N--—————-
ARt H AR

#5=590.551 M (590.551 M*1.560/1000= 0.9213 T)
$MER/INET = 0.9213 T

BAR/INET(E )= 11.36 M2

JREEL/INET = 10.948 M3

PNA21-01-#£f&: FF , Z0OID: WF1, fIEFF5%: 1 [X1:-9,Y34:+195] R~t:701.0 cm * 701.0 cm, [EE: 40 cm

#5 TEHXA #5 TRBHX-HEM= ((700.97-[{RE[B]7 .52+ [{S B0 18R | 255.39
Lgl78+[SEA1]21.9*2)*(Int((700.97-7.5*2)/20)+1)/100=
255.39 M

#5 TREHYR #5 TREHBYERM= ((700.97-[REE]7.572)+[{EEHK 0 EBER 255.39
Lg]78+[$47EA1]121.9*2)*(Int((700.97-7.5*2)/20)+1)/100=

255.39 M

#5 +EHXA #5 L BEFXHA= ((700.97-({REB]7.5°2)+ (B B0 £ ELg] | 255.39
78+ 7EA1]21.9"2)*(Int((700.97-7.5*2)/20)+1)/100= 255.39

M

#5 FBEHYRE #5 EEBYA= ((700.97-[{REB]7.5°2)+ [ R0 B ELy | 25539
78+[$HEA1]21.9%2)*(Int((700.97-7.5%2)/20)+1)/100= 255.39

M

J1J L)L

BiRETE:
BAR[IEF )= [B&K]4739.67* [ O [ ]40/10000=18.96 M2
HRR/NE:18.96= 18.96 M2

RC:tH&E:
RC = (700.9681*700.9681)*40/1000000=19.654 M3
RC/M&t:19.654+[ L i #f#5]0.000=19.654 M3
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-------------- LT L Y1y S—
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#5=1,021.547 M (1,021.547 M*1.560/1000= 1.5936 T)
$ARR/INET =1.5936 T

HBAR/NET ()= 18.96 M2

R /NET = 19.654 M3
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